Name Score:

Subtracting Across Zero

Subtract to find the differences.

a. 1,002 b. 3,005
- 101 - 1,026

c. 2,005 d 5000 e. 6,000 f. 8000
- 1,355 - 2,509 -3,340 -6,481

g. 7,000 h. 9,000 I 1,000 j. 3,000
-6,129 -5,542 - 480 - 982

K. A carnival has come to town!.The people who

run the ring toss game had 3,000 prizes to give away.

Customers has already won 1,846 prizes. How many

prizes are left?

|. The hot dog stand at the carnival had 2005 hot dogs.
They sold 925 of them. How many hot dogs do they

have left?
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Name Score:

Subtracting Across Zero

Subtract to find the differences.

a. 1,002 b. 3,005
- 101 - 1,026
901 1,979
c. 2,005 d 5000 e. 6,000 f. 8000
- 1,355 - 2,509 -3,340 -6,481
650 2,491 2,660 1,519
g. 7,000 h. 9,000 I 1,000 j. 3,000
-6,129 -5,542 - 480 - 982
871 3,458 520 2018

K. A carnival has come to town!.The people who

run the ring toss game had 3,000 prizes to give away. 1154

Customers has already won 1,846 prizes. How many

prizes are left?

|. The hot dog stand at the carnival had 2005 hot dogs.

They sold 925 of them. How many hot dogs do they 1080

have left?
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